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I 7 mwn: impact of pelt on 15221 nkMY
a  If:a pelt has 2wa m13 on it, touching a hair that comes out from the flesh, or hair on the backside at the same spot — xnv
b  If:it had 2 half-omm:
i Snppw 7 there is RWN NRMY, not Yan NRNIY
ii ¥ neither - the pelt nullifies the 2 half-n’n>13 of n%13-meat
1 But: ™ concedes in a case where he speared the 2 pieces with a piece of wood and moved them — xnv
¢y 77's analysis (version1): only applies if animal bit it off, but if removed intentionally (w/knife), even 113 is Y01 to My
i N5 (responding to 377's questions): >"1 found it to be MV even if there was a substantial amount of flesh left
d v 71 (version2): comment on 82’0 — only has Rwn nkmY (per YRYnW ) if it was bitten off; if removed w/knife — %02
i And: those who taught his comment as being on ®w», must have intended 7171 911 (flattened out >%v01)
I Analysis of 82’0 (dispute ™1/ about Xwn nrMV)
a  ~79 72 no Yan nrm if he touched it on the pelt-side; but if he touched the actual flesh of the 2 half-nmt — pana xnv
i Reason: two separate touches can be 97030 to a MWW - YN NN YI W
b pn 7 even if he touched the flesh-side — Y3123 anmy yan PR
i Per: his own observation that Y8ynw> 7 and ©3°577 12 Rv17 "1 had similar approaches
1 Snype 7 our ruling
2 xor7 77 (R mbAR) all YnRa prnon that were split (into half-n*1ww) and then brought into a house
(a) ~DI7 77NV — because 2NRMY MM NRN PR (We assume = YN MM PN PR)
(b) D 8NV — because YNRM M HNRN V2
3 Inference: if HYRYNW 1::ROIT 1 DP™1T
(a) Challenge: y™ is fully 7non here
(b) Answer: "1 would normally rule for nkmv; here, the pelt nullifies the 2 half-nnr of n% 13
(i) Support: from his concession in 80
¢ Challenge (to 879 72): Rn»12 (") on vv1-2; vl excludes pelt with 2 half-nmt from yan nrmvo
i Snypw’ 77 v2 extends Rwn nRMY to that pelt
i p77v2:vl Sonly if there is Yan nkmv is there RwN NNV
1 But: per R19 13, there is yan nkmv if he touches the flesh-side
2 Defense: y™ intended — only a case where touching from any side would generate yan nkmv >xwn
d  Question (posed to 81777 772 7137): does a N')p(femur) that is sealed up have xwn nrmv?
i Lemmal: does ™ agree with ™'s equation: YIn NRMY->RYVN NRMO
1  And:in our case, there's Xwn nkmMV because there's yan nkmv if he touches the flesh side
ii ~ Lemma2: he doesn't have that equation and doesn't require Yan nkmv in order to generate Xwn NrRMY
iii ~Didn't answer: he was feeling weak (v3) and distracted the questioner
e &5 2 half-onom stuck together with one stick - could carry it all day, no nxno
i Reason: nkm is defined by xw1 but read ®wn (v4) >must be carried at one shot (not bound together)
1 Challenge: YRynw’ "7 in our Mwn
2 Answer (977): our mwn is a case of TN (meat is flattened onto pelt)
3 And: same answer given for »"'s concession in X9’
(a) Per: dispute ®™/Dn3n re 2 pieces of nn
(b) o whether he touches them or moves them — &nv
(c) ~”reven if he carries them
(i) Challenge: doesn't carrying imply moving
(ii) Must be: a case where the nRmV isn't as one and X" adds ®wn NRMY, contra man (qr=definitional)

www.dafyomivicc.org 106 © Yitzchak Etshalom 2011




